H & 0l & AHS B Ml A

20248 =0ila eI S

M ZEel=x s
M 2 2& 22l E NF(MEIEX/EE)
Chel: 2Jt ESAY 22l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Fe=X 43,538,682 38,968,567 4,570,115
= 26,209,686
[ 752,224
= 5,948,718
Al 10,628,054
=20t E& 22 & N (MSX/EE) 3,912,874 5,054,738 1,141,864
== 1,004,557
Al 2,908,317
=)t B2ArY 22l 3,912,874 5,064,738 1,141,864
= 1,004,557
Al 2,908,317
SECH XA 862,380 876,924 A14,544
101 @124H| 5,180 4,624 556
U IIRINZZENSES 5,180 4,624 556
OEEANE S EE2AE 33H| 22
161,858 2«8 22 +23 5,180
201 et 3| 2,400 3,000 A600
01 AtR2tc|bI 2,400 3,000 2600
Oz g% =& 2,400,000 2,400
301 LELE NS 720,300 720,300
02 MBI 2HHSFHS(HAANS, XLHE) 720,300 720,300
O8Ed =IIREA & BERSL WL
o 50,0002 *1,666H 83,300
O=JI22U &t o<
600,000,000& 600,000
O=JI22U A A2
10,000,000 10,000
OFHRSA AMLRAZS 21,000,000 21,000
ONEZdFE MERAZS
6,000,000& 6,000
307 @I2t01 & 134,500 149,000 14,500
03 YIZAHHEE 22X 94,500 102,000 AT7,500
ouetaol=dal AIRAIXIZl 2| X2
12,600,000 12,600
oHstd==2H R[S AIEAIXR 2EH] X
& 12,600,000 12,600
olstd =012l AHEAIXE 2EH|
A& 12,600,000 12,600
ouetRs=2ital AdAIXIZ 2E84] X
15,300,000 15,300
olstE=gdE A AHEAIXZ 28] X
o 12,600,000& 12,600
OUiet6 - 28 H =S A=l AHEAIKIE 23|
A& 12,600,000 12,600
OUE NEME R3] AHEAIXIZ 24| X
10,800,000 10,800




SN OISR D
M 2 2& 22l E NF(MEIEX/EE)
Sl =0t 2E2A 2l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZ=3 JEAR ARHEXZ X2
2,700,000& 2,700
OS4USNE LA ARSI T2
2,700,000 2,700
11 AMRISXAEES 40,000 44,000 24,000
o=ZsdH d&X =d 40,000,000 40,000
SEHA XA 33,000 31,300 1,700
201 er23| 22,500 19,500 3,000
03 Ar=EHI 22,500 19,500 3,000
OEEZ =84 18,000,000& 18,000
OFBY FHA HBAXED
1,500,000 *3CH 4,500
301 LEtE NS 1,500 1,800 A300
11 AALRHIXIRS 1,500 1,800 A300
OB Ed =84 NHSAH 2HIXE=
1,500,000 1,500
307 lztol & 9,000 10,000 21,000
04 QIZHHAMAMH 2 & 9,000 10,000 1,000
O6 - 258 JIg&H AL 9,000,000& 9,000
SEAE 2| 30,400 30,000 400
201 er=23y| 10,400 10,000 400
02 S3=gHl 10,400 10,000 400
OMES=SHE S&2= 2 MM
6,400,000 6,400
OANdS=EE AEEHIRXI
4,000,000 4,000
401 AlEHIZ 201 20,000 20,000
01 Al&H| 20,000 20,000
OF=Ald 34l S 20,000,000& 20,000
6-25 F&GU+=E 440,400 440,320 80
s 237,600
Al 202,800
301 EtE NS 440,400 440,320 80
< 237,600
Al 202,800
02 A2 EH LGS (HAAS, NLWE) 440,400 0 440,400
06 - BHHEREL Holl=g K&
440,400,000 440,400
= 237,600
Al 202,800
2Hd Fd Eol=g 1,410,000 1,158,000 252,000
=S 676,800
Al 733,200
301 EtE NS 1,410,000 1,158,000 252,000




SN OISR D
2 Z)t BE 22 L NA(AE=X/E2)
o 20 E2AE 22| (CHol: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 676,800
Al 733,200
P2 A BEHHZ(HAHS, NYHA) 1,410,000 0 1,410,000
oZgd FH A=<
1,410,000,000& 1,410,000
& 676,800
Al 733,200
HEZERE 220 151,080 145,080 6,000
& 61,800
Al 89,280
301 LetENZ 151,080 145,080 6,000
= 61,800
Al 89,280
2 ASISBHRHAHZ(HANS, NLHE) 151,080 0 151,080
ONBTARE PEHSLL
151,080,000& 151,080
& 61,800
Al 89,280
SESF3A XA 13,700 14,200 AB00
& 2,400
Al 11,300
301 LetENZ 9,200 9,200 0
= 2,400
Al 6,800
2 A BEXHZ(HAAHS, NYHA) 9,200 9,200 0
OSSN 85 KL 2
250,000 4 H +23 2,000
OSYRBN 85 24
150,000 x4 % *123] 7,200
T 2,400
Al 4,800
307 QIZ2t01 A 4,500 5,000 2500
02 QIZHBAAIEER 4,500 5,000 A500
QJI01E =EltM2s e X&
4,500,000& *13] 4,500
SERSA 2= K& 3,914 3,914 0
& 1,957
Al 1,957
301 LB F 3,914 3,914 0
T 1,957
Al 1,957
02 MBI 2EHH S (HUAHS, NSTHA) 3,914 0 3,914
O=sgR3A 2=z4l XI&
978,500 *4H 3,914




SN OISR D
M 2 2& 22l E NF(MEIEX/EE)
SRl = 2ES2AE 2l (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,957
Al 1,957
NEE=3E &Y £d 500,000 1,900,000 1,400,000
401 AIEHIX S0 500,000 1,900,000 1,400,000
01 Al&H| 500,000 1,900,000 1,400,000
OANEES=IH =& T (XHA)
500,000,000 *19H 2 500,000
ME=ZEX 08 =4 420,000 420,000
401 A2 HIZL R 0HbI 420,000 420,000
01 Al&HI 420,000 420,000
OAMEZZEX 018 24
420,000,000 420,000
=HTZIRE 2EUR=E 48,000 0 48,000
= 24,000
Al 24,000
301 LEtE N = 48,000 0 48,000
S 24,000
Al 24,000
02 NBI2HHSFS(HAAS, NLHE) 48,000 0 48,000
OFHTZRE PEU4Y
48,000,000 48,000
[ 24,000
Al 24,000
I EZMEEH(AIBISX /I ZUELE) 37,008,303 31,288,980 5,719,323
= 26,209,686
= 752,224
== 4,944,161
Al 5,102,232
SPD|ZMHEEH 29,610,028 24,768,823 4,841,205
= 22,162,477
[ 59,89%
= 4,288,447
Al 3,099,209
HAZS0 27,376,097 22,219,932 5,156,165
= 21,900,877
< 2,737,610
Al 2,737,610
301 EtE NS 27,376,097 22,219,932 5,156,165
= 21,900,877
== 2,737,610
Al 2,737,610
01 Al 2E A S(SRNEXMHE) 27,376,097 22,219,932 5,156,165
OdA= 27,376,097




SN OISR D
3 | ZHE2E(ARSN/I =422 Y)
o IR ZMETE (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ogtt 26, 176,097,000& 26,176,097
= 20,940,877
== 2,617,610
Al 2,617,610
oAl& 1,200,000,000& 1,200,000
= 960,000
== 120,000
Al 120,000
ME=3=| 21,328 61,327 A39,999
308 XtXIEMSO0IH 21,328 61,327 A39,999
08 W=J|20CHet 22 21,328 61,327 39,999
(OME=y={0} 21,328,000& 21,328
RN ESPNI=10 223,470 182,381 41,089
= 178,776
= 22,347
Al 22,347
301 LEtE NS 223,470 182,381 41,089
= 178,776
& 22,347
Al 22,347
01 AR 2EHSHS(RNEXRTHE) 223,470 182,381 41,089
Onofiat - MO 223,470,000 223,470
= 178,776
== 22,347
Al 22,347
ZFL= Sibl XE A 82,824 81,200 1,624
= 82,824
201 ger=3| 82,824 81,200 1,624
= 82,824
01 Al2 2218 82,824 81,200 1,624
OFSYR byl X Al
82,824,000& 82,824
= 82,824
o= 47,000 44,500 2,500
= 47,000
201 =3 4,000 5,500 21,500
[ 4,000
01 AtR2t2|HI 4,000 5,500 1,500
ONelis=At 7 & 22F1) 2]
4,000,000& 4,000
s 4,000
301 LEtE N = 2,000 2,000 0
S 2,000




SN OISR D
3 | ZHE2E(ARSN/I =422 Y)
o IR ZMETE (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 dALEEIXIZE S 2,000 2,000 0
OMoi+= W= 2,000,000& 2,000
= 2,000
302 OI=H o2& = 41,000 37,000 4,000
= 41,000
02 QI SRS S2a= 41,000 37,000 4,000
OO0l 25 41,000,000 41,000
== 41,000
g2 Old=2 0% 7= 60,000 91,560 A31,560
301 EtE NS 60,000 91,560 A31,560
02 AR 2HHLFS(HAAS, XNLHE) 60,000 91,560 A\31,560
OZ%E S 02 AR 22
60,000,000 60,000
ARl SXIAIE SAEAE X2 62,400 59,800 2,600
< 12,480
Al 49,920
307 glztol & 62,400 59,800 2,600
= 12,480
Al 49,920
10 Al SXAAEEHE 22X 62,400 59,800 2,600
OARASAIAIE SAHAE =& X3
62,400,000 62,400
S 12,480
Al 49,920
C=0SRAE S2H(HEAY) 1,447,120 1,264,425 182,695
< 1,447,120
307 @20l & 1,447,120 1,264,425 182,695
= 1,447,120
10 Al SXAEEHE2EHI2x 1,447,120 1,264,425 182,695
Ogdg 2 XA (2-1e)
1,447,120,000& 1,447,120
= 1,447,120
C=QSIAE 2S(AHA) 5,000 0 5,000
307 glztol & 5,000 5,000
11 AMEISXAEEES 5,000 5,000
Ogad tgdl X3 5,000,000& 5,000
C=0lAI4 FHARE 128l X 26,140 26,140 0
= 5,228
Al 20,912
307 @120l & 26,140 26,140 0
s 5,228
Al 20,912
10 Al2ISTIAEEE2HIEX 26,140 26,140 0




SN OISR D
3 | ZHE2E(ARSN/I =422 Y)
Eel: 2R |=MESE EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OL=QIAl4 FAHA o128 XI&
26,140,000& 26,140
= 5,228
Al 20,912
C=0AE FAESA 2 9,000 10,000 21,000
307 @12t0| & 9,000 10,000 21,000
11 ARRIS XA E X 9,000 10,000 21,000
OL=0A4d ZAESA 24| X
9,000,000& 9,000
NASSsH w=IHl X3 A 9,880 10,470 A53%0
101 @124H| 9,038 9.423 A385
M ORNZZE2NSES 9,038 9,423 A385
OMASESSY NI XIZA(FAIQ
el24Hl) 9,038,000& 9,038
201 fer= 3| 842 1,047 A205
01 AtR2te|HI 842 1,047 A205
ONASESY WsH| KA
842,000& 842
AR SXIAF 2= WS 5,000 5,000
301 LELEN S 5,000 5,000
14 JIEt2 =3 5,000 5,000
OARISXIAF 2= W=H| 5,000,000& 5,000
NEAt S A& A7 ES 10,000 10,000 0
207 ARl 10,000 10,000
01 1= 10,000 10,000
ORMISI| NSHAI 2 EH & 20268 AXHE H =
22 2RIN UL N2 B
10,000,000 10,000
NASE A Yst=dHls N 21,000 19,800 1,200
== 4,200
Al 16,800
301 22N = 21,000 19,800 1,200
= 4,200
Al 16,800
02 MBI 2HHSFHS(HAANS, XLHE) 21,000 19,800 1,200
ONMAS X4 YstEdHl=
21,000,000& 21,000
= 4,200
Al 16,800
ABI=IPDIEE 24 A2 17,200 26,000 8,800
201 fet=3| 9,200 11,000 1,800
01 AtR2t2|HI 9,200 11,000 21,800
ozg=g 100,0002 20 *13] 2,000
O=gH| 7,200,000 7,200
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SN OISR D
M JZMEBE(AMSEX /I ZHEER)
C2l: IR ZMEEH (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,492
101 @1A4H| 74,869 73,260 1,609
[ 59,8%
= 10,482
Al 4,492
03 SR (RIH )22 U2+ 74,869 73,260 1,609
OAtdlZre] BEHA HE (2SS0 At
2l X) 74,869,000 * 1 74,869
[ 59,8%
= 10,482
Al 4,492
HZUoHA &SP xE 6,600 0 6,600
= 1,980
Al 4,620
301 EetE NS 6,600 0 6,600
== 1,980
Al 4,620
02 ANRI2HHHS(HAAS, NLHE) 6,600 0 6,600
OZZTIoHAt MEEESE
6,600,000 6,600
= 1,980
Al 4,620
NASE N2 4,549,085 4,289,617 259,468
= 3,030,291
s 177,672
s 308,243
Al 1,032,879
HAsEE 2=Hl A& 300,000 440,000 140,000
301 22N = 300,000 440,000 140,000
02 A 2E AT S(FIANS, XLETHE) 300,000 440,000 140,000
ORASE 2IALBHZ
300,000,000 300,000
CHI;*'X}% ABIAHIA SXAIE OARIE 22 S0/ At 222,341 238,177 A15,836
= 155,639
< 33,351
Al 33,351
308 XXM SO0l 222,341 238,177 15,836
= 155,639
== 33,351
Al 33,351
13 S I2S0He 4 A AS A 222,341 238,177 A15,836
QIAL - 2t8 LEE201 At
4,446,820 +50& 222,34




SN OISR D
M JZMEBE(AMSEX /I ZHEER)
Bel: NASS NI (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 185,639
=S 33,351
Al 33,351
22, NEady & 29iadH2g(te22 3,049,849 2,661,009 388,840
Ared)
= 2,439,879
s 182,991
Al 426,979
101 ©1AH| 545,849 457,009 88,840
= 436,679
= 32,751
Al 76,419
04 JIZtN2Z2 XS 2+ 545,849 457,009 88,840
OXt222(AIAR) 545,849,000 545,849
= 436,679
= 32,751
Al 76,419
201 fet= 3| 4,000 4,000 0
= 3,200
= 240
Al 560
02 S3=4ghl 4,000 4,000 0
OXNEIZAIY SEH S5 728
4,000,000 4,000
= 3,200
= 240
Al 560
307 gl2to| & 2,500,000 2,200,000 300,000
= 2,000,000
= 150,000
Al 350,000
05 2I2tRIE S 2,500,000 2,200,000 300,000
OXt&2Z2(AEE) 2,500,000,000& 2,500,000
= 2,000,000
< 150,000
Al 360,000
Atdl2te] MM A (XHetAkdi2tel) 31,476 30,707 769
= 22,033
< 2,833
Al 6.610
307 elztol & 31,476 30,707 769
= 22,033
== 2,833




M ZEol=x
M J|=MEBHE(AS|ISXI /I =ME B A
Bel: NASS NI (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 6,610
10 Al S XA EEHE2IHIE X 31,476 30,707 769
OAtellZel LA NS (KA 22!)
31,476,000 31,476
= 22,033
& 2,833
Al 6,610
KA XEHE KFEAFEE A S2f25) 1,750 1,750 0
& 350
Al 1,400
307 QIZt01 A 1,750 1,750 0
= 350
Al 1,400
11 AR SXAMEER 1,750 1,750 0
OXIG e HE KEASEAHR S22t
1,750,000 1,750
& 350
Al 1,400
KNSR HE SALA R 15,600 13,200 2,400
& 3,120
Al 12,480
307 QIZ2t01A 15,600 13,200 2,400
= 3,120
Al 12,480
10 AISISXAIEHE2ZHIER 15,600 13,200 2,400
OXISXEHE] EALL X
15,600,000 15,600
& 3,120
Al 12,480
HAS TARAHES SEXNZ ALY 119,000 129,526 A10,526
T 23,800
Al 95,200
101 21244l 119,000 129,526 A10,526
= 23,800
Al 95,200
M IIRINZ2Z2XsSEs 119,000 129,526 A10,526
OMAS XARHE EEXNIMS
119,000,000& 119,000
& 23,800
Al 95,200
KNS TtedE adst K2 23,000 23,000 0
T 4,600
Al 18,400
307 2I2+0l™ 23,000 23,000 0




SN OISR D
M JZMEBE(AMSEX /I ZHEER)
Bel: NASS NI (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 4,600
Al 18,400
11 AMEISXAEEES 23,000 23,000 0
OXN St 43t X2
23,000,000& 23,000
= 4,600
Al 18,400
22, NSAXady o Z29TadH29 (XXt 264,481 253,082 11,399
HH29)
= 185,138
= 23,803
Al 55,540
307 @120l & 264,481 253,082 11,399
= 185,138
= 23,803
Al 55,540
10 Al SXAAEEHE 22X 264,481 253,082 11,399
OXIS e 23| 262,425,000 262,425
= 183,698
== 23,618
Al 55,109
OXEE X2 A 2,056,000& 2,0%
= 1,440
S 185
Al 431
KNS T&HE JIs22 15,000 15,000 0
= 3,000
Al 12,000
402 2IZtA=01d 15,000 15,000 0
=S 3,000
Al 12,000
02 RIENEASEZ(0IETHR) 15,000 15,000 0
OXSTHEHE JIsEZ 15,000,000& 15,000
[ 3,000
Al 12,000
Z2sEA=E =342 g5 506,588 484,166 22,422
= 405,274
< 30,3%
Al 70,919
308 XXM SOIA 506,588 484,166 22,422
= 405,274
=S 30,39%
Al 70,919




SN OISR D
M JZMEBE(AMSEX /I ZHEER)
el MASE U2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
13 2| ZHSOICHEHS A P AL 506,563 484,166 22,422
oZzsAUS £33N0 gAIN
506,588,000 506,588
= 405,274
< 30,3%
Al 70,919
SL=X K& 2,849,190 2,230,540 618,650
= 1,016,918
= 514,657
= 347,471
Al 970,144
A SAHKIE 170,960 253,400 A\82,440
201 fer=3| 30,600 28,000 2,600
01 AtR2t2|H] 7,000 6,000 1,000
oggt=ZH] 6,000,000& 6,000
Oxtgaxtz 1,000,000 1,000
2 s5=4g4l 6,500 8,000 21,500
0=s2= # HMAl 6,500,000 6,500
03 A= SHI 17,100 14,000 3,100
O AESAAL S 11,700,000& 11,700
ONHASAHA W= XI& 5,400,000& 5,400
301 2eEN= 5,000 5,000
11 dALREIXIE S 3,000 3,000
o= & & NASAKR It &8IX
& 1,000,000& 1,000
OXESAZEs & W= I &bl X
1,000,000& 1,000
OR+=AESAAF Ha BOHA 48] X3
1,000,000 1,000
14 JIEt2d= 2,000 2,000 0
OXASALA 1T ZAI= 2,000,000& 2,000
307 elztol & 117,360 200,400 /83,040
02 2IZHBYAIHE X 12,600 14,000 1,400
OAEAl AHRSAIEHE QS K&
12,600,000 12,600
1 AMISXIAIEEX 104,760 166,400 61,640
o=o=X=gs X3 72,000,000 72,000
OO0IA2AMI0 &Etxt A&
17,640,000 17,640
OsHS AHESA gdat A&
15,120,000& 15,120
401 AlZHIZ SO 18,000 20,000 A2,000
01 A28l 18,000 20,000 22,000




SN OISR D
M JZMEBE(AMSEX /I ZHEER)
el =X A (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXNRASAHE ==c| & 2te|
18,000,000 18,000
A2 SAH 2zt X2 14,200 14,200 0
= 4,700
Al 9,500
201 et 3| 12,000 12,000 0
== 3,600
Al 8,400
01 AtR2telbl 8,000 8,000 0
OXHSA 2435t X2 8,000,000& 8,000
< 2,400
Al 5,600
2 s5=34l 4,000 4,000 0
OXNESAL 243t K& 4,000,000 4,000
= 1,200
Al 2,800
301 EtE NS 2,200 2,200 0
< 1,100
Al 1,100
11 dALEEIXIE S 2,200 2,200 0
OF THEASAHL A== 2,200,000 2,200
== 1,100
Al 1,100
AASAE 2OUI0IH N& 54 66,418 64,930 1,488
= 33,209
& 9,963
Al 23,246
101 @124H| 66,418 64,930 1,488
= 33,209
< 9,963
Al 23,246
03 SRA(RIH )22 U2+ 66,418 64,930 1,488
OXHAS A 2OIUI0IH Q124
33,209,000 x2& 66,418
= 33,209
== 9,963
Al 23,246
K2SAH 2CIUI0IE K& S&(RHA) 21,620 15,000 6,620
101 @124H| 20,000 15,000 5,000
03 SR (RINAHA) 222+ 20,000 15,000 5,000
OX2SAH 2OIUI0IE 12|
20,000,000& 20,000
202 048l 1,620 0 1,620




SN OISR D
M JZMEBE(AMSEX /I ZHEER)
el =X A (EEEE))
SA - ZE - B2(30) - HRAS of v G o HIDE2
01 2LHoIH 1,620 0 1,620
O3s=A 2UEH0HI 1,620,000& 1,620
= S AJSAMEE It MHIA T3 4,592 5,361 AT69
= 2,296
== 689
Al 1,607
201 er23 | 4,592 5,361 AT69
= 2,296
< 689
Al 1,607
2 S5=2g4l 4,592 5,361 AT69
OXESAA 282 4,592,000 4,592
= 2,296
s 689
Al 1,607
KNEXEE AtEIMHIA SXFAR (XIR) 297,142 291,000 6,142
s 208,000
s 44,571
Al 44,571
201 et 3| 4,000 4,000 0
[ 4,000
01 AFR2t2ltl 4,000 4,000 0
OXISAXIEE AFBIMHIA SEXRAIE (RIY)
4,000,000 4,000
[ 4,000
308 AXIHMSOIA 293,142 287,000 6.142
= 204,000
< 44,571
Al 44,571
18 SIS0t & A AS A 293,142 287,000 6,142
OXIATEE ABIAHIA SXFAIS (XIJ)
293,142,000& 293,142
= 204,000
< 44,571
Al 44,571
NATEE AMSIMHIA SXAI (S DISAZ XA 10,071 13,434 A\3,363
2)
= 7,049
& 1,511
Al 1,511
308 XXM SO0l 10,071 13,434 23,363
= 7,049
< 1,511

1,511




SN OISR D
M JZMEBE(AMSEX /I ZHEER)
el =X A (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
18 SI[2S0tet 4 A AS A 10,071 13,434 A\3,363
OXATIEE AIBIAHIA SXIAIRH (G Of
SAUXIZAI) 10,071,000& 10,071
= 7,049
< 1,511
Al 1,511
XSS MIMHIA STAS (LASSAHHIA AHY) 234,400 0 234,400
= 164,080
[ 35,160
Al 35,160
308 XXM SOIA 234,400 0 234,400
s 164,080
== 35,160
Al 35,160
13 SI[2S0He 4 A AS A 234,400 0 234,400
ONATIBE ABIAHIA EXAY(LASE
MHIA AH) 234,400,000 234,400
s 164,080
s 35,160
Al 35,160
432 I Fod =29 1,000 1,000 0
301 LELE NS 1,000 1,000
11 dALEEIXIZE S 1,000 1,000
OMBZZ HM HOIC 29
1,000,000& 1,000
ARISNZEHE F5 2 243 ABAI 50,000 50,000 0
= 10,000
Al 40,000
307 @120l & 50,000 50,000 0
== 10,000
Al 40,000
11 MEIEXAEE 50,000 50,000 0
@/\FQIEXI JEMH 25 2 243 AIEA
& 50,000,000 50,000
= 10,000
Al 40,000
==X 1,226,767 967,911 258,856
= 981,413
S 122,677
Al 122,677
301 EtE NS 1,226,767 967,911 258,856
= 981,413
< 122,677
Al 122,677




SN OISR D
M JZMEBE(AMSEX /I ZHEER)
ctelr =X X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A2 HSHS(RRNEERTH) 1,226,767 967,911 258,856
(OFI= =) 1,226,767,000& 1,226,767
= 981,413
< 122,677
Al 122,677
3|U=X XA 33,400 29,000 4,400
201 er23 | 15,400 18,000 22,600
01 At2teltl 6,400 8,000 1,600
Os|Y=i g2 6,400,000& 6,400
03 A= SHI 9,000 10,000 21,000
OslYUs MHbIA 2 9,000,000& 9,000
307 21201 & 18,000 11,000 7,000
11 AMRISXAEEES 18,000 11,000 7,000
OAtzI=TI2g JISlAL NI
18,000,000 18,000
NSARI2EEAN 24 40,000 38,500 1,500
= 6,000
Al 34,000
101 @124H| 40,000 38,500 1,500
= 6,000
Al 34,000
03 SRA(RIH )22 HE S 40,000 38,500 1,500
OXSASIEFE2AM 1A4H| K&
2,500,000« 1E* 122 30,000
< 6,000
Al 24,000
OXISGABI SZFE AN 12481 XI& (KHAI)
10,000,000 *1H 10,000
NS At 2 ZE M X3 105,500 93,000 12,500
201 er2&y| 7,200 9,000 /1,800
01 AtR2t2|HI 7,200 9,000 21,800
oerEgH| 7,200,002 7,200
301 LB 2,000 2,000
TEICEE 2,000 2,000
OWS L AOILt 2D} 1,000,0002! 1,000
OB NHs L A=0s &t
1,000,000 1,000
307 el2to| & 96,300 82,000 14,300
04 QIZHHAIAIH 2 £ 22,500 0 22,500
OXGASI2EHE AN Sedal 2B
22,500,000& 22,500
11 AMRISXAEEES 73,800 82,000 28,200
OXISAt2 23S AN 22
36,000,000& 36,000




M ZEol=x
MM JZMEBH (A EX /I =MEBE)
el =X A (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
CEEEELEEEEENECEN T
37,800,000& 37,800
SHs NGA 2SN 22 L ALY X2 28,000 20,200 7,800
T 8,400
Al 19,600
301 LEBNF 28,000 14,000 14,000
& 8,400
Al 19,600
11 HAAHIXIE S 28,000 14,000 14,000
OSUE NANBIZEHEAN 22 2
28,000,000& 28,000
& 8,400
Al 19,600
ANz SgAteZel XA (SSAESXXLHA HA) 7,600 7,600 0
s 3,800
Al 3,800
201 B2 AY| 3,800 3,800 0
= 1,900
Al 1,900
01 AtR2elt] 3,800 3,800 0
OSEAtellZel At 3,800,000& 3,800
iy 1,900
Al 1,900
301 LPENS 3,800 3,800 0
= 1,900
Al 1,900
01 AISIBEHAGS(2LETME) 3,800 3,800 0
OSeAtell2e] X3 3,800,000& 3,800
= 1,900
Al 1,900
SEAteIZ2IA Q12| KA (SSAISSXELHAH NS 69,456 67,752 1,704
Ated)
iy 34,728
Al 34,728
101 2124 d| 69,456 67,752 1,704
= 34,728
Al 34,728
03 SRH(RINHS) 22X 2+ 69,456 50,814 18,642
OSEAtell 22l AL e124d|
2,894,000& 2B+ 122 69,456
= 34,728
Al 34,728
SEAr 22l A e1148] X~ 17,600 11,560 6,040
101 214 d| 17,600 11,560 6,040




SN OISR D
M JZMEBE(AMSEX /I ZHEER)
&t Y= XA (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 SR (RINAHA) 222+ 17,600 11,560 6,040
OSEAtIZCIAL 21| X1
8,800,000& »2H 17,600
SHES XEE SEAMHA NEH 138,164 138,164 0
[ 97,000
Al 41,164
201 et 3| 41,564 41,564 0
[ 29,380
Al 12,184
01 AtR2t2lt] 41,564 41,564 0
OSHS AtcllZt2IAtS 41,564,000 41,564
= 29,380
Al 12,184
301 EtE N = 96,600 96,600 0
= 67,620
Al 28,980
01 Al EE A S (2 RDEXMA) 96,600 96,600 0
O8YS Atdll2el K& 96,600,000& 96,600
[ 67,620
Al 28,980
JYE D I MY 36,000 0 36,000
S 10,800
Al 25,200
101 @124H| 36,000 0 36,000
= 10,800
Al 25,200
MU IIRINZZE2NSES 36,000 0 36,000
Odgd It dEH 2y
3,000,000« 1H =122 36,000
=S 10,800
Al 25,200
Zdgd selts SESSAY 250,000 0 250,000
< 75,000
Al 175,000
201 er23 | 17,000 0 17,000
= 5,100
Al 11,900
01 At2teltl 17,000 0 17,000
O3ddgd slgdlt=s SE=ES 248l
17,000,000 17,000
=S 5,100
Al 11,900
301 22N = 30,000 0 30,000




2A:

E M

ol

Xl
2
X

lor 4y
02 B 12
JE 0= J

Pl

1%
|

I SXI/IIZMEEH)

SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 9,000
Al 21,000
02 A2 EH LGS (FHAAHS, NLWE) 30,000 0 30,000
OZ =¥ 3lYlls SE== A
30,000,000& 30,000
= 9,000
Al 21,000
307 @120l & 193,000 0 193,000
== 57,900
Al 135,100
11 AMRISXAEEES 193,000 0 193,000
osSg== OtSHE 23]
193,000,000 193,000
= 57,900
Al 135,100
402 BIZHAH=01 A 10,000 0 10,000
= 3,000
Al 7,000
02 RIENEASEZ(0IETHR) 10,000 0 10,000
OosSg=s Utsdy cl2ad
10,000,000& 10,000
[ 3,000
Al 7,000
D=AR O XIS 26,300 0 26,300
= 18,000
Al 8,300
405 KHaHF S| 26,300 0 26,300
= 18,000
Al 8,300
01 ML ESFSHI 26,300 0 26,300
OL=A 0 gtHZ2R &
20,000,000& 20,000
< 18,000
Al 2,000
OANE S22 &X 6,300,000& 6,300
WS (FUSXW) (ARSI I =4 LE) 2,551,345 2,546,049 5.29%6
LIS HHXIE 2,551,345 2,546,049 5,296
S HHRIE 2,551,345 2,546,049 5,296
701 JIEtl HSHES 2,551,345 2,546,049 5,296
01 JIEtal AN ES 2,551,345 2,546,049 5.29%6
O z=0lls S8 dE=
2,551,345,000& 551,345
HH2LZHI(FRI=FX D) (OIEHIIE 66,160 78,800 A12,640
el 2E| 12,000 12,000 0
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